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8+3x7-= . .
— Unequal Sharing 2 step calculation problems
1) Kye planted some seeds. 80% of the seeds grew. 1a) 3 friends go to the cinema and pay £4.75
The remaining 16 seeds didn't grow. each for their tickets. One of them buys
S, S, N, S, S, popcorn for £1.35.
| v b b b How much did they spend altogether?
. . ‘ . . ERERIR 4
2 @ @ - < < N R /\ .
Z3 X 5 — a) How many seeds did he plant? . : '
b) How many seeds grew? 4 1b) They decide to share the popcorn and share the
bill equally. How much do they each pay?
¢) What is the ratio of seeds that grew to ’ ,
didn't grow in its simplest form? g
83% of 50 = S
T Reading Pie Charts
Favouite ice-cream flavours
1
Fraction word problems - 6 If 15 people chose chocolate as their
Mint 1 favourite flavour, how many people
T h n took part in the survey? . /
2 2 ‘] S R A family of 4 share 3 large pizzas. Chocolate '
3 6= i -‘ TR R A 5 ;:—'.9 é If 15 people chose chocolate, how
' ; Vanilla many people chose mint as their
favourite flavour?
N Strawberry
4 . Raspberry Did more people choose vanilla and
Mum eats 6 of a pi1zza. }1 } % raspberry combined or strawberry?
6
Dad eats double the amount that mum did.
’ Wy Pocket Lucie eats half the amount that mum ate. If 120 people took part in the survey, how many ¥e
- more people chose strawberry than mint? "7/ Private
C 30 / %’; itvo‘:_fe Jacob eats the rest. -
1\ What fraction of a pizza did Jacob eat? —
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